33E RMHEARMIXL Y /L —KE2ERR

FRY—J
No — A :l—f‘ — No - 5 :I_F .
5717 T &x BR T L% Iz T &x BE 7 L%
15 14 10 15
1 NN ! 42 2—-3 195 ALL STARS 1 At Zero 14 1—4 V0. ZARAEY B
31 BEE B 33 24 b = 30
F—L% | B& = T 7T—L% F—L% | BR TTEE T L%
5 15 7 15
2 =N 2 1—-4 15 Big Treasure 2 Hangover 195 3-2 g Lea Lea
10 B 30 31 Bt 5 26
F—L% | B& T FEE | L% F—L% | &R TTEE [ L%
15 8 15 5
3 Y /NS 2 3—2 19 =44 3 At Zero 13 4—1 2 STEP
33 L A 18 30 L 70
F—LE | BE T ER | 7 L% FL& | BE BEE | 7—L%
15 4 15 2
4 ALL STARS 190 3—-2 155 Big Treasure 4 Hangover 19 4—1 4 LAEY
34 B = 24 30 &b = 6
F—LZ | R TR [ 7TI% F—LZ | R CTEE T L%
15 5 10 15
5 Lea Lea 19 41 5 LBEY 5 STEP 12 23 3. 2AEAEYS
30 Bh 10 32 Bt s 37
ABI—T ) . _
F—LE | BX BE | 7-L% F—LE | EBX BE | 7 1.%
15 13 11 15
6 | ALL STARS |t BE- R 9. EAIZAEYS 6 | minme 0. B-B 15 At Zero
30 s 22 21 s 30
F—LF | &R BE | 7-L% F—LE | &R BE | 7 1%
15 14 13 g -
7 Hangover 174 8- 195 Big Treasure 7 I=N"54 8 8- 13 STEP
36 B, B 33 2 it 5 30
F—LZ | ER TR [ 7I% F—LZ | R CTEE T L%
15 10 15 11
8 d‘*ﬁ% 1 1 H# - ﬁ 1n5 Lea Lea 8 %ﬁ 15 H#? - ﬁ 12 L»%&U
35 e Yy 31 30 s 23
F—LE | BE EE | 7—1% F—LE | EX BE | 7—L%
9 15 15 3
8 FAIEAEYH 165 8- Z) Hangover 8 STEP 12 B-8 4 LAEY
30 B 37 30 Bt & 7
F—LZ | BR T EE [ 1% F—LZ | BA CTTEE T L%
15 ) 10 15 ) 12
8 | ALL STARS |12 B-8 10.....] Big Treasure 8 At Zero 19 B-8 1 Lea Lea
30 Bt 20 30 e 13




